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sgolsla 24 50,340 41,340 9,000
201 £B-2dH| 50,340 41,340 9,000
01 At 22/l 6,100 5,100 1,000
OFAZCES 2,800
OPIE=UNE-=3—1 1,800
Ous & A &2 ME 50,0008 ~ 305 1,500
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seIF I
=9 ol oy
s& =X 38 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 44,240 36,240 8,000
O&Jlerdzte] = 170,000& * 123 2,040
OAagordzte HE= 160,000& * 12& 1,920
OsZlletd el ez 150,000& * 12& 1,800
OEototdzte] = 140,000& * 12&8 1,680
O2¢3 &= 300,000& * 23 600
OHIIR= 1,600,000& * 12& 19,200
O&ot=E 23 500,000& = 12& 6,000
OFMNALS 500,000& = 23l 1,000
OA&ZEHl |Xldl 10,000
D dF 24 NE 8,923,240 6,613,859 2,309,381
2 26,666
S 1,273,844
Al 7,622,730
dEd sAXE 8,923,240 6,613,859 2,309,381
2 26,666
< 1,273,844
Al 7,622,730
Ed SAKE 2,384,830 1,842,830 542,000
201 Yet2 | 2,730 2,730 0
01 At 22l 2,730 2,730 0
OsthaAXE Mo e 4
70,000& * 99 = 23| 1,260
OIS A PRI S A
7,000& ~ 3Y * 70 1,470
202 04l 2,100 2,100 0
01 = LH 4 Hi 2,100 2,100 0
Ozgd A Z2 =0 2,100
308 AXIEHHSOIA 2,380,000 1,838,000 542,000
08 WEIIA0HEtE = 2,380,000 1,838,000 542,000
Ostu &&d & IGHI 680,000
Ostl 2=z 2 N 1,700,000
st g4 X& 6,329,223 4,600,000 1,729,223
< 1,265,844
Al 5,063,379
308 AAIEHHSOIA 6,329,223 4,600,000 1,729,223
< 1,265,844
Al 5,063,379
08 WSII20HetE = 6,329,223 4,600,000 1,729,223
Osgtw g4 X& 6,329,223
< 1,265,844
Al 5,063,379
StgaXdH 299 155,855 140, 184 15,671
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